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FUNCTION RAND(IX)

IX=1X%*16807

IF(IX.LT.0) IX=IX+2147483647+1
RAND=IX

RAND=RAND#*0. 465613E-9

RETURN
END




85
< - Jdt - 4 § 24 1

wutawve 1. IX natanﬁunauwnntUuaﬂuqutauu1ntann WASUaANIN 2147483648
weslsmalme—

J¥, 4 &4 v 5 ¥ e+ «Q v 4d ve ¢

1ununﬂtiu§unﬁﬂ 1X=973523. a1 IX BLHRAT L THARNAE AW AN TY
fawan IX  InNaanunn
9. 2% = 0.4656613 x 10~

4 4 "
3. tugUdun1TE19AN X, mtaae 22 ununaziiue 2°t -1 Feluiiua

] (v 1 of o o J o ]
LANANYRnag 1eNaR A 11BN M NAYTngMan
4
2. n11u3alaniunﬁnw1uanuaquni

nwwuanuﬂqun31a51§tnnﬁnuuunw1uﬂa01aan1qawn
l
H
g(2) = (1/¥Zn) eVt du
— 00
) da a
Box WAy Muller (a.d. 1958) dwwqtaniunun11u1nuaeuuuﬂnnuﬂﬂ11wu

4 N ‘4 | [ \ [ g
Adaianniiin 0 LREATRI LTI ML 1 wian q fiu 2 A7 A

z_ - axis

Blz 42.) 2

z. - axis

2,= Bcos ®



86

¢ ; . . :
B =2z + zaz ﬁnﬁ1u?nuiv1ﬂﬁua17 (chi-square distribution)
- 3 ‘ . o e d
ArmTsiua L iuddTy = 2 Feifauini (equivalent) fUNITW3IAUILANTTU L UL Taa
. . . . v <4 uzud q..,.#
(exponential distribution) a%8A11afs = 2 AVUUTAN B NANAIU

i/2

B = (-21n R)

TAEN1TANNIRT (sysmmetry) 1AUINUISUUULUNA (normal distribution)
‘ . . . . ‘' o 3 '
0 NNVTUWAINUAIANILANE (uniform distribuiton) Temi19 0 fu 21 1 TiREUTINAN

B Uaz 6 Lﬁu mutually independent

N
]

(-21nR )" ’* cos(2mR,)

N
n

e = (-21nR)*"* sin(amr,)

[ ° 4 < 1
Wqﬁiudwu1unn1a1aaeﬂ1zﬁ1n1nﬂn11uanuw¢uuuﬂnn 18711938 RMEAN
AIRMUUTUTIM = (SSD)®  axiTanl¥ SUBROUTINE NORMAL (RMEAN, SSD, EX)
T93e1RA1 EX = Z_ * SSD + RMEAN win EX = Z, * SSD + RMEAN Tuudav

v v U
ATy aquuﬁwﬁﬂun i 'ﬁﬁ"'\\!ﬂ ')llll‘l'siu’lﬁﬁﬂ'\Tll'iﬂll?\llll]l]ﬂﬂa ﬁ‘il

SUBROUTINE NORMAL (RMEAN, SSD, EX)

COMMON' /SEED/ IX,KN

PI=3.1415928

IF (KN.EQ.1) GOTO 10

RONE=RAND (IX)

RTWO=RAND(IX)

ZONE=SQRT (-2¥ALOG (RONE) ) ¥COS ( 2¥PT#RTWO)

ZTWO=SQRT(-2*ALOG(RONE))*SIN(Z*PI*RTWO)

EX=ZONE¥SSD + RMEAN
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KN=1
GOTO 15
10 EX=ZTWO%*SSD + RMEAN
KN=0
15 RETURN

END
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SUBROUTINE LNGIS(RMEAN, SSD, EX)

COMMON/SEED/IX,KN

PI = 3.141592654.

BETA =SQRT(3.) % SSD / PI

YFL=RAND(IX)

S=LOG(YFL)-ALOG(1.-YFL)

EX = RMEAN + S*BETA

RETURN

END
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11

15

SUBROUTINE SCAL(CS,PS,DMEAN,SD, EX)

COMMON/SEED/IX, KN
CSD = CS%SD
YFL = RAND(IX)

IF(YFL-PS) 10,10,11

CALL NORMAL (DMEAN, CSD, EX1)
EX=EX1

GOTO 15

CALL NORMAL (DMEAN, SD, EX2)
EX=EX2

RETURN

END
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NMARUNIN A

Tisunsail Flun17398

G A M AN I 36 0
C A COMPARISON ON METHODS OF ESTIMATING PARAMETERS IN

C ANALYSIS OF COVARIANCE WHEN RESIDUALS HAVE LONG-TAILED DISTRIBUTION

C BY

C KANNIKA UKOSAKUL

c DEPARTMENT OF STATISTICS
c CHULALONGKORN UNIVERSITY

C********************************************************************

C METHOD :
c 1. ORDINARY LEAST SQUARE METHOD (OLS)
c 2., M-ESTIMATOR WITH RAMSAY CRITERIA

C DISTRIBUTION ¢

c 1. LOGISTIC DISTRIBUTION

c 2. SCALE CONTAMINATED NORMAL DISTRIBUTION
C********************************************************************

DIMENSION YY(150),XX(10,40,10),B(10),N(10),TR(10),1A(10),

* E(10,40),AMEAN(10),5D(10),Y(20,40),XBAR(15),
* EE(150) ,BOLSF(15),BMF(15) ,BOLSR(15) ,BMR(15),
* XF(150,20),XR(150,20),X(150,20),XRR(150,20)

AN MR I I A R R
CHIHHHHHA IR AN ACCEPT PARAMETER 3Rk ok ko
M L L L L s S s s E g g e T T T T T
C IDIS = 1 SCALCONTAMINATE DISTRIBUTION

c IDIS =2 LOGISTIC DISTRIBUTION



c AMEANO  =MEAN ERROR
c " 0o =S1GMA ERORR
CONMON /SEED/ IX,KN
READ(5,10) N,L,NN
10 FORMAT(212, 14)
DO 20 I=1,X
READ(5,30) AMEANC1),SD(1),B(1)
30 FORMAT(3F4.0)
20 CONTINUE
DO 40 1=1,L
READ(5,50) NCI),TR(1)
50 FORNAT(12,F4.0)
40 CONTINUE
1X=16807
1DIS =1
ANEANO = 0,
$D0=25.
KN=0
B T T T ST
c IP =1 TYPE | ERROR  IP =2 POWER OF THE TEST
B L T T S
1P=2
CS=15
PS =0.0§
DO 60 I=1,100
CALL NORMAL(AMEANO,SDO, EEE)

60 CONTINUE
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C=0

§C1=0

IK=0

10=0

S$0=0

C******************************************************************

CHRHRREOREEOOOOOOOOOEE GENERRATE DATA %506k 4k k6

C******************************************************************

100

§80=0

SSN=0

SZN=0

$820=0

SSIMN=0

DO 70 II=1,NN

DO 80 I=1 ,L
NM=N(1)

DO 90 J=1,NM

$=0

DO 100 K=1,N

CALL NORMAL(AMEAN(K),SD(K) ,XX(I,J,K))
CONTINUE

IF (IDIS.EQ.1) THEN

CALL SCNML(CS,PS,AMEANO,SDO,E(1,J))



Y(1,J) =S+E(1,J)+TR(1)+100

i

ELSE
CALL LOGIS(AMEANO,SDO,E(1,J))
Y(i,d) =S+E(1,J)+TR(1)+100
ENDIF |
90 CONTINUE
80 CONTINUE
T L T e TN T T T T T T T T T T T T T Ty
CHBRRHOORORODOEER R CREATE  DUMMY VARIABLES  HHRRERRREREEEE
CHRIIHRR R IR IR I
118=0
DO 170 11=1,L
11S=11S+N(11)
NO =1ls—u(11)
N1=1+NO
DO 180 1=N1,IS§
DO 190 J=2,L

IF (11+1.EQ.J) THEN

X(1,d) =1
ELSE

X(I,d) =0
ENDIF

190 CONTINUE

180 CONTINUE

170 CONTINUE

94
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CHERRRHEHHHOREE R RO RS R
CHERHEERERERE RS RS COMPUTE XBAR- AND ADJUST X ***;************
CHHRRHEHEEEEO RO R R
115=0
DO 200 I11=1,L
11S=115 +N(I1)
NO=11S-N(11)
N1=14NO
DO 210 1=N1,118
L1=1+1 | ‘
L2=L+N
DO 220 J=,L1,12
XCI,d)=XX( 11, 1-NO,J-L)
YY(I) =Y(I1,1-NO)
EE(1) =E(11,1-NO)
220 CONTINUE
210 CONTINUE
200 CONTINUE
15=118
DO 225 I=1,18
X(I,10=1
225 CONTINUE
L1=L+1
L2=L+N
DO 230 I=L1,L2
§=0

DO 240 J=1,1IS
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$=S+ X(J,1)

240 CONTINUE

XBAR(1) =S/1§

230 CONTINUE
c************************************************************&*****
CHRERIRRRR KOO0 CREATE MATRIX OF FULL MODEL FRHRAR AN AN R
cmmmw*w*m**ﬂ*mm*mu*ﬂm*ﬂ*mmm*ﬂ

DO 260 I=1,IS

DO 260 J=],L2

XFC1,d)=X(1,d)
260 CONTINUE

SUMB=0

DO 265 I=L1,L2

K=1-1

SUMB=SUMB+B(K)%XBAR( )
265 CONTINUE

YYY=0

DO 266 I1=1,I8

YY(I)=YY(1)-SUMB

YY=YYY+ YY(I)%%2

266 CONTINUE
c******************************************************************
CHERERRHOOHDOEROOOROROOE CREATE MATRIX OF REDUCE MODEL FRAHI RN KA
Cm**m****mﬂ*HH**H***HM*HH**H*WH%*HHW*H*

M2=M+1
DO 270 I=1,IS

DO 270 J=2,M2




M3=L+J-1
XR(I,J)=X(1,M3)

XR(I,1)=1

270 CONTINUE
C******************************************************************
GO0k COMPUTE STATISTIC OLS 4 M-ESTIMATOR #¥¥kkkH¥sEk
C******************************************************************

1000

Mi=L+M

CALL OLS(XF.KI,IS,YY.SSF.SMF.BOLSF,BKF)

M11=M+1

CALL OLS(XR.Kll,IS,YY,SSR.SMR,BOLSR.BNR)

§1=(SSF-SSR) /(L-1)

$2=(YYY-SSF)/(IS-L-M)

$3=(SNF-SMR) /(L-1)

S4=(YYY-SNF) / (1S-L-M)

IF (S2,LT.S4) THEN
IK=1K+1

ENDIF

SSE0=0

SSEM=0

DO 1000 I=2,M11

SSEO=SSE0+(1.-BOLSR(1))%%2

SSEM=SSEN+(1.-BMR( 1)) %¥2

CONT INUE

SSE0=SSE0/(N11)

SSEM=SSEM/ (N11)

IF (SSEO.LT.SSEM) THEN

97




10=10+1
$0=50+SSE0
§S0=5S0+SSEO¥%2
ELSE
IN=IM+1
SN=SM+SSEN
SSM=SSM+5SEN¥¥2
ENDIF
IF ((S2.EQ.0).0R.(S4.EQ.0)) THEN
GOTO 70
ENDIF
FOLS =51/52
FN  =53/54
F =561
F1=3,40
IF (FOLS.GT.F) THEN
SC=SC+1
ENDIF
IF (FOLS.GT.F1) THEN
§C1=5C1+1
ENDIF
IF (FM.GT.F) THEN
C=C+1
ENDIF
IF (FM.GT.F1) THEN
C1=C1+1

ENDIF

98




$Z0=SZ0+SSEO
SZIN=SIN+SSEN
$SZ0=5SZ0+SSEO¥*2
SSIN=SSZN+SSEM¥*¥2
70 CONTINUE
AOLS = SC/(Nﬁ)
AN = C/(NN)
AOLS1= SC1/(NN)
AM1 = C1/(NN)
IF (IP.EQ.1) THEN
WRITE(6,494)
494 FORNMAT(' P(TYPE I ERROR) *)
ELSE
WRITE(6,493)
493 FORMAT(' POWER OF THE TEST')
ENDIF
IF (IDIS.EQ.1) THEN
WRITE(6,495) CS,PS,L,MN,NM,IK
495 FORMAT('C = ',F3.0,'P= ',F4,2,'TRT =',12,'IND =',12,'N= '
* [2,'NO = *',14)
WRITE(6,496)
496 FORMAT('DISTRIBUTION SCALE CONTAMINATE ')
ELSE .
WRITE(6,497) L,M,NM,IK
497 FORMAT('TRT =',12,'IND =',12,'N= ',12,'NO = *,14)
WRITE(G,498)

498 FORMAT('DISTRIBUTION  LOGISTIC ')

99



100

ENDIF
WRITE(6,499)
499 FORMAT(' METHOD OLS M OLS N')

500

WRTIE(6,500) AOLS,AM,AOLS1,AM1
FORMAT(15X,4F10.4)
STOP

END

G A AN A A AN Mk 3 3K IR 5k K 3

CHREREORREROREHOROEE SUBROUTINE NORMAL 33385k kK 0K 30 0k

G AN Al MM I S S 0K A A 0 o 0 3 6 o

10

15

SUBROUTINE NORMAL(RMEAN,SSD,EX)
COMMON/SEED/ IX,KN

P1=3.1415926

IF(KN.EQ.1) GOTO 10

RONE=RAND( 1X)

RTWO=RAND( IX)
ZONE=SQRT(-2¥ALOG(RONE) ) ¥COS ( 2%P I ¥RTWO)
ZTWO=SQRT(-2%ALOG(RONE) ) %S I N( 2%P I¥RTWO)
EX=ZONE*SSD+RMEAN

KN=1

GOTO 15

EX=ZTWO%SSD+RMEAN

KN=0

RETURN

END

A M A M A A A I K0

CHERRRIRNR RN, SUBROUTINE SCALE CONTAMINATE NORMAL 3M3K34H 404

CHEHOER RO R HEHEORE RO OO



SUBROUTINE SCAL(CS,PS,DMEAN,SD,EX)
COMMON/SEED/ 1X, KN
CSD=CS%SD
YFL=RAND(IX)
IF(YFL-PS) 10,10,11
10 CALL NORMAL(DMEAN,CSD,EX1)
EX=EX1
GOTO 15
11 CALL NORHAL(DKEAN.SD.E*Z)
EX=EX2
15 RETURN
END
C******************************************************************
CHERERHOEOOOEEEE 6% SUBROUTINE  LOGISTIC AR
C******************************************************************
SUBROUTINE LOGIS(RMEAN,SSD,EX)
COKMON/SEED/IX;KN
P1=3.141592654
BETA=SQRT(3.)%SSD / PI
YFL=RAND(IX)
$=ALOG(YFL)-ALOG(1,-YFL)
EX=RMEAN + S¥BETA
RETURN
END
C******************************************************************
C*********************** FUNCTION RANDOM 33H 0 0 4k 0

C********************************¥*********************************

101
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FUNCTION RAND(IX)

IX = IX%16807

IF (IX.LT.0) IX = 1X+21;}483647+1

RAND = IX

RAND = RAND¥0.465661E-9

RETURN '

END

C******************************************************************

CHBERRROHRORHORROONOE % SUBROUTINE OLS Ll b a g pd g2 g e T

C********************************************%****************¥*¥¥*

150

140

130

SUBROUTINE OLS(X1,MM,IS,YY,SSF,SM,BE,BM1)

DIMENS ION AI(15.15),83(15),??(lSO),BKl(lS),Xl(150,15).XY(15),
EEO(150),BMM(1000,15)

DO 130 I=1,MN

DO 140 J=1,MN

SF=0 '

SUMF=0

DO 150 K*l.lé

SUMF=SUMF+X1(K, 1) %X(K,J)

SF .=SF+XI(K,J)*YY(K)

CONTINUE

XY(J) = SF

AlI(I,J) =SUNF

CONTINUE

CONTINUE

CALL SINV(MM,AID)

DO 160 I=1,MM
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SF=0
DO 170 J=1,ﬁM
SF=SF+AI(1,J)%XY(J)
170 CONTINUE
BE(1)= SF
160 CONTINUE
SSF=0
DO 180 I=1,1S
SF=0
DO 190 J=1,MN
SF=SF+X1(1,J)*%BE(J)
180 CONTINUE
EEOCI) =YY(I)-SF
180 CONTINUE
BXY=0
DO 192 I=1,NM
BXY=BXY+XY(I1()%BE(I)
192 CONTINUE
SSF=BXY
CALL SORT(EEO,18,SOR)
CALL M(EEO,X1,YY,MM,15S,BM1,SOR)
DO 193 I=1,MM
BMM(1,1)=BM1(])
193 CONTINUE
KK=2
300 DO 194 I=1,IS

$=0
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DO 195 J=1,MN

b

§=5+X1(1,J)¥BN1(J)
195 CONTINUE
EEO(1)=YY(I)-$
194 CONTINUE
CALL M(EEO,X1,YY,NM,1S,BM1,SOR)
DO 199 I=1,MN
BMM(KK, [)=BN1¢1)
199 CONTINUE
DO 200 I=1,NN
11=KK-1
Z=ABS( (BMM(KK,1)-BMM(I1,1) ) / ( BMM(KK,I)) )
IF ( Z.LE.0.001) THEN
GOTO 200
ELSE
GOTO 220
ENDIF
200 CONTINUE
GOTO 240
220 DO 201 I=1,MN
BM1(1)=BNM(I1,1)
201 CONTINUE
KK=KK+1
GOTO 300
240 DO 202 I=1,MNM
BM1(1)=BMM(I1,1)
202 CONTINUE

§2=0
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DO 260 I=1,MN
- 82=52 +XY(1)%BM1(])
260 CONTINUE
SN=52
RETURN
END
C******************************************************************
CHRRAAAA RN AR AR AR SUBROUTINE M-ESTIMATOR AR K
C******************************************************************
SUBROUTINE M(EEN, XM, YN,MN, 15, BN, SOR)
DIMENS ION XM(ISO,lS),YM(lSO),BK(lS),YF(150),BE(15),W(150),
* XTM(IS.ISO),EEM(150),XW(15,150).XWX(15,15).XWY(15)
DO 200 1=1,IS
SA =-0,3%ABS(EEM(1).SOR)
YFCI)=(EEM(1)/SOR)%EXP(SA)
200 CONTINUE
DO 210 I=1,18
D=(EEM(1))/SOR
IF (D.EQ.0) THEN
Wl =1
ELSE
WCI)= (YF(1)%ABS(D))/D
ENDIF
210 CONTINUE
DO 235 I1=1,MM
DO 235 J=1,1s

XTMCI,J) =XM(J, 1)
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235 CONTINUE

DO 240 I=1,MM

DO 240 J=1,I§

XWCT,d)=XTMC T, J)¥W(J)
240 CONTINUE

DO 260 I=1,MM

DO 260 J=1,MN

§=0

DO 270 K=1,1S

S=S+XW( [, K) ¥XN(K,d)
270 CONTINUE

XWX(1,J)=8
260 CONTINUE

CALL SINV(MM,XWX)

DO 280 I=1,MN

§=0

DO 290 J=1,IS

5=S +XW(1,J)%YN(J)
290 CONTINUE

XWY(1)=8
280 CONTINUE

DO 800 1=1,MM

$=0

DP 310 J=1,MM

S=SIXWX(1,J)¥XWY(J)
310 CONTINUE

BM(])=8§
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300 CONTINUE
DO 320 1=1,1S
§=0 |
DO 330 J=1,MM
S=S+XM(1,J)¥BM(J)

330 CONTINUE
EEM(1)=YM(1)-§

320 CONTINUE
RETURN
END

CHERRIHERHHODOHOROEE SUBROUTINE SORT $3kk i kb k4 k6
SUBROUTINE SORT(EM, IS,SNE)
DIMENSION EM(150),SM(150),EM1(150)
DO 10 I=1,I8
EM1¢1)=EN(I)
10 CONTINUE
K=15-1
DO 5 I=1,K
K1=1+1
DO 5 J=K1,IS
IF(EMCI) . LE EM(J)) GOTO 5
S=EM(1)
EM( 1) =EN(J)
EM(J) =5
5 CONTINUE

NE=1S/2

DD=MOD(1S,2)



20

30

IF (DD.GT.0) THEN
ME=ME+1
AMED=EN(ME)

EILSE '
ME1=NE+1
AMED=(EK(KE)+EM(NBI))/2

ENDIF

DO 20 I=1,18

SN(I)=ABS(EM(I)-AMED)

CONTINUE

K2=18-1

DO 30 I=1,K2

K3=1+1

DO 30 J=K3,IS

IF(SM(I).LE.SM(J)) GOTO 30

S=SM(1)

SN(I)=SM(J)

SM(J) =S

CONTINUE

ME=15/2

DD1=NOD(1S,2)

IF (DD1.GT.0) THEN
ME=ME+1
AMED1=SM(ME)
SME=AMED1/0.6745

ELSE

ME1=ME+1

108
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AMED1=(SM(ME)+SM(NE1))/2
SKE=ANEDI/O.5745
ENDIF
DO 40 I=1,1S
ENC(1)=EM1(I)
40 CONTINUE
RETURN
END
AN 3 M A NI I
CHRERHEHHRHEEOO0000E SUBROUTINE  INVERSE NATRIX NNk ok k- ok
C****************#*************************************************
SUBROUTINE SINV(NMI,A)
DIMENSION A(15,15)
DO 20 K=1,MI
A(K,K)=-1,0/A(K,K)
DO 5 I=1,NI
IF(I-K) 38,5,3
3 ACT,K)=-A(]1,K)¥%A(K,K)
5 CONTINUE
DO 10 I=1,NI
DO 10 J=1,MI
IF((I-K)%(J-K)) 9,10,9
9 AC(1,J)=AC1,J)-AC],K)¥A(K,J)
10 CONTINUE
DO 20 J=1,MI
IF(J-K) 18,20,18

18 A(K,J)=-A(K,J)*A(K,K).



20 CONTINUE
DO 25 I=1,MI
DO 25 J=1,MI
25 A(l,d)=-A(1,J)
RETURN

END
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